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00000000 (glm) OODODOO
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o overdispersion (00 O0O0O00O0O)
o resampling & randomization (bootstrap OO0 OO0 O0O0O0O0O0O)
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http://www.r-project.org/

00000 OSO000 freeware (A~ S-Plus O free )
Jouobooddon

000000000 (glm00)
sudduooogduoond

Jouoood

Doddoodooodonn
o “Introductory Statistics with R” P. Dalgaard (2002)
o “Computational Statistics” M. Crawley (2002)
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(CO00O0OO000OO00oO0oooooooon)

oot
ROODO:
dpois(y, A = 3)

Oood
ROOO:
dnorm(y, u = 0,
o=1)

(000 PoorPoint 0OO0O

Oooooon)

—>

> rpois(10,

lambda = 3)

5432424171

> rnorm(9,
1.4851004
-2.1752314
1.2493592

mean = 0, sd = 1)

-0.9912880 -0.1092131
-0.3779424 1.1360432
-1.2405408 -0.4425550
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rbinom
(0o?)
rpois
rgeom
rexp
rgamma
rnorm
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rbeta

runif

glm(family
glm(family
multinom

glm(family
(OCODoo?)
glm(family
glm(family
glm(family
glm(family
(OOooo?)

binom)

binom)

poisson)

gamma)
gamma)
gaussian)
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link UOO0O0O4O0O0
O0o00oDooDoOo (boooo)
Joogubodod: gbodootdoodbogd

00000000000000000000000 (000
00)

link(p(x)) = Bo + Brz1 + fazo + -+ = Zﬁzﬂ?z‘
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o 00000 (maximum likelihood method)
. 00000000 (glm): 0000000000 +00

HREEN
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o 0O0OODOO (moment method)
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HREE RD Perl (http://www.perl.org/)

Joooooogotood

e RO0OD: 0000000003 0000000000000
(Perl 0ODODDO)

U:000o0noddot logistic U0

xy <- scan("data.txt", list(x = 0, y = 0)) # data.txt U0
logistic <- glm(y ~ 1 + x, family = binomial(logit), data = xy)
summary (logistic)# U O 0II

e Perl U U: JUOOOOUOOULOOOOODO

o RUODUOUOULOUOLOOOOOON
(O. 0000000000000 0DO00O)
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Jogbogboogboooogn oooogodbotubotdbobobobooouogn

> rnorm(1)
[1] 1.225641

> rnorm(3)
[1] 0.06946610 -0.77775513 0.09740263

> rnorm(3, mean = 10, sd = 3)
[1] 4.140088 10.766689 9.179323 9.711892 8.932404

> rnorm(20, mean = 100, sd = 1)
[1] 100.07112 100.76318 98.50378 99.95469 98.53718 98.53915 100.3385¢
[8] 101.26489 101.29528 99.33203 100.55881 99.15316 99.40310 101.1517¢
[15] 100.05952 100.04701 99.61895 99.18690 101.65745 99.70014
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RUDOOODOOOO: OUOO verctor U L L [

Juobgubgtdbootdbbotgtbogd

> rnumbers <- rnorm(3)

> rnumbers

[1] -0.8029520 0.3082426 1.6835991
> rnumbers + 1
[1] 0.1970480 1.3082426 2.6835991

> rnumbers?2 <- rnumbers *x 2

> rnumbers?2
[1] -1.6059040 0.6164853 3.3671982
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RODODODOOOOO:bDooooobo

1000000 - M(x)::[i)+'ﬁlx 0: 0000 wp(x), J: 00000
e 00000 p(z) O vector 100 O 10

betal <- 3

betal <- 0.5

x <- seq(x.min, x.max, by = 2.0)

x <- rep(x, 10) # 0 x 0000 10 00O
mu <- beta0 + betal * x

00000 rnorm [

sample <- rnorm(length(y),

mean = mu, sd = 1)

ROgimUUOUOUOUOUOO (0D0D0D0 gim0000 ImO000000)

result <- glm(sample ~ 1 + x, family = gaussian)

(000 PoorPoint 0000 ooooooo) ].7/ 37



Joboooodd

00000000 (glm) DOODODOOO

Jobooboddodnnn



Jogbgbodgbotubtdbtobobobouogod 2003.03.22

0o ndddn

ofn googgg

HREREEN rbinom glm(family = binom)
OO0O0d0ddd  rbinom glm(family = binom)
oooo (0aO7?) multinom

Jooood rpois glm(family = poisson)
oooo rgeom (OCODoo?)

oood rexp glm(family = gamma)
Oooon rgamma glm(family = gamma)
oo rnorm glm(family = gaussian)
ooogon rlnorm glm(family = gaussian)
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0000 (binomial distribution)

e 000D ye{0,1,2,--- ,N} ROODO: dbinom(y, N, p)

e 1O0ODOODO (paramter: N,p) 0.30F
0.25F

(Mpa-p om

0.15
000 NpOOO Np(l-—p) 0.10

O00000: OD00o0o0oO0oOo (oobooo 0.051

000000)00ooooon 0.00
- 00000 e{0000,0000 }
. 0000000000000

D00Muoboddooogddtddlegistic D0 OOOOOOOO0O
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0000000 (Bernoulli distribution)

e IDODO ye{0,1} ROODO: dbinom(y, 1, p)
e 1ODOODOO (paramter: p) 1or

, y 0.8
pY(1 —p)
0.6

000 pOO0O p(1-—p) 04

oo ggbuobuooooboo 0.2
- gooboooogogbotdbogod

0.0

N=100O0OUOOoooooooogogd

DO0O0000gggd logistic OO probit 0O OOOOOM
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glm: O 0OOOO logistic U 0 [

kﬁﬁsﬁc L 0o: p(x):: T 1 0: 0000 p(x), 0: 00000 p(=x)
exp|[—(Bo+LB1x)]

o LOF T TITT T AT

e 00 p(x)d vector 000 O 08

betal <- -3

betal <- 0.5

x <- seq(x.min, x.max, 0.1) 0.4
p <-1/ (1 + exp(-betald - betal * x))

0.6

0.2

0.0

e p(x) 0O0ODOODOO rbinom [

sample <- rbinom(length(p), 1, prob = p)

RO glmUUoogn

logistic <- glm(sample ~ 1 + x, family = binomial(logit))

(000 PoorPoint 0000 ooooooo) 23/ 37



Jogbgbodgbotubtdbtobobobouogod 2003.03.22

U 00 summary(logistic) OO U IQ

Call:
glm(formula = sample ~ 1 + x, family = binomial(logit))

Deviance Residuals:
Min 1Q Median 3Q Max
-2.0481 -0.8413 -0.4843 0.8688 1.9038

Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) -2.12486 0.51363 -4.137 3.52e-05 *x*x*
X 0.40912 0.09029 4.531 5.86e-06 x*x*x*

Signif. codes: 0 ‘**xx’ 0.001 ‘*x’ 0.01 ‘x’ 0.05 ¢.” 0.1 ¢ > 1
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0000 (multinomial distribution)

e OODOD y; €{0,1,2,--- , N} (00000000

‘DDDDDD(paramter:N,{pi}) Jogooobobbobooood
Jooobouogooboogd
Jodgrtobgbodood

Y1Y2 - - - YN - ' 00 : multinom (multinomial

logistic regression)[
e 00O Np,OOO Np;(1—ps) 000 logistic 000000
o 000D0: 300000 (oooopop HHUBOODOODOODUDL
0)00oooooo 0000 (000 gm0 OO

- 0oooo e{o0,0o00,0 } O0ooooo)d
- goobooobooobobobobd
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000000 (Poisson distribution)

e 0OODO y; €{0,1,2,--- ,00} RODOO: dpois(y, A\)
e J0ODOODO (paramter: \) 0.4 -

0.3

02F

oo xoog A
0.1

oot ogboodbooubogboogod _ - ° o
ooobougbogoooobogo 0.0 , 99080080

. goooooo 2 4y6 § 10
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glm: U UUUOU M2)=00 =00) U U L

“log link” - )\(CIZ) — eXp(ﬁo + 51x) O: 0000 M), 0: 00000 A(z)
6_
e 00 Ax) O vector 0O OO c
betal <- -2 4
betal <- 0.3
x <- seq(from = x.min, to = x.max, by = 0.1)3
y <- exp(betal0 + betal * x)

AMx) OOODODODO rpois O L

sample <- rpois(length(y), lambda = y) 6 8 10
X

RO glmUUUoogn

pois <- glm(sample ~ 1 + x, family = poisson(link = "log"))
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U 00 summary(pois) OO OO0

Call:

glm(formula = sample ~ 1 + x, family = poisson(link = "log"))

Deviance Residuals:
Min 1Q Median 3Q Max
-2.0548 -0.8627 -0.3371 0.5896 1.8564

Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) -1.53556 0.26984 -5.691 1.27e-08 *x*x*
X 0.23779 0.03698 6.430 1.28e-10 *x*x*

Signif. codes: 0 ‘**xx’ 0.001 ‘*x’ 0.01 ‘x’ 0.05 ¢.” 0.1 ¢ > 1
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0000 (geometric distribution)

e 0000 9 €{0,1,2,--- ,00} RODOO: dgeon(y, p)
e 1ODOODOO (paramter: p) 0.6
05le

p(1 —p)? 04F

000 1/p000 (1—p)/p? 03[
0.2

0.1
0.0

odotd: gboboobobooboobobod
Joboooboouoodoooonn

ooogooboooooouoooooggod
Joboobobuobodoooon

- 00 =00 — 0000 ooogon
. 00 x00? 00000000
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0000 (exponential distribution)

e JOODO ye€ 0,00 RODOO: dexp(y, M)
e 1ODOODOO (paramter: \) Lor

Aexp(—Ay) 10h
000 1/A000 1/X2

0.5f.

oboooogod

oogg: 0.0
-1 0o oouooga

- gooooooooog?
Joboobobtuobouooooboobouogoogon

RO glmJ gamma U OO DOO0OOOOOOOOOOMO
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00000 (I' distribution)

e OO0 y € [0,od] ROOO: dgamma(y, «, ()
e JO0ODOODO (paramter: «,(3)

0.4

a—1

Y eXp(%y) 0.3

BO‘/ w1 exp(—u)du 0.2
0

0.1
000 o000 aB?

0.0
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glm: 000DOD (00 «x00) 000

cclog link” - M(m) — Ckﬁ _ eXp(ﬁO ‘|‘5133) 0: 0000 p(x), 0: 00000 A(x)
159

e 00 p(x)d vector 00O O

beta0 <- -0.1 10
betal <- 0.2
scale <- 1.5

x <- seq(from = x.min, to = x.max, by = 2.0)3

x <- rep(x, 20)
y <- exp(betal + betal * x)

6

N FIIIETN

pwz) OO0O0O0O0000O rgamma [

sample <- rgamma(length(y), shape = y / scale, scale = scale)

RUO gm0
gam <- glm(sample ~ 1 + x, family = Gamma(link = log))
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U000 summary(gam) DO O OO ......

Call:
glm(formula = sample ~ 1 + x, family = Gamma(link = log))

Deviance Residuals:
Min 1Q Median 3Q Max
-3.3726 -0.8527 -0.1934 0.3070 2.2978

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) -0.43582 0.14525 -3.001 0.00329 x*xx
X 0.22761 0.02399 9.489 3.25e-16 *x*x*

Signif. codes: O ‘**%x’ 0.001 ‘*xx’ 0.01 ‘x’ 0.05 “.” 0.1 ¢ > 1
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0000 (normal or Gaussian distribution)

e J0O0ODO y € |[—00, 0] ROODO: dnorm(y, i, o)

e NO0ODOOO (paramter: p,o) 0.6

5 0.5

(y —n) } 04
202

1

2mo

x| -

0.3
000 000 o2 0.2
0.1

oo ggbodobooboobugood
0.0

- googoogo
- gooooogoogo

ROnls 000000000 O0DOOODOOOD OK(ODOODODOoODOoODOoOO)
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000000 (log normal distribution)

0O000d ye|0,o00] ROODO: dlnorm(y, u', o')
000000 (paramter: u,o)

04f ..
~ (log( )—M>2} ol

202 .
0.2}
000 exp(u+0?/2)0 ‘

00 exp(2u + 0?)[exp(c?) — 1] oL

00H"

oo-gbogobogo

O0000: 00000000 (Dbobooo
0)yooooooooooo
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00000 (B distribution)

e 0ODOO yelo0,1] ROODO: dbeta(y, a, B)

e J0DOOODO (paramter: a, () 35
3.0

25}
20} :
15}
1.0}

_a af :
HUU U UY wrepeTs ol

0oooo:o,1)00000O0o0onoo 00 02 04 06 08 1.0
. 0000o00O0ooooooooge? y
00000000000 (glm) 000000
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